= 0l & AFE B M A

SN BEe
HE: SHOAY(UUDDHY /L)
el = 2o (el &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 il b o B2
=50 592,443 583,086 4,357
SHOAIY (LS TTHT/LBIYE) 410,843 403,366 7,477
a0 el 121,983 120,566 1,417
At 13,120 12,924 196
201 Lty 13,120 12,924 196
02 ZZ2YH| 13,120 12,924 196
CNEETES 1,500,0002 * 14 1,500
OXSR X HI 2,000,0008 * 2CH 4,000
ozl 5,520
—2AEUA(ARA)
2,5002 * BAIZF * 1202 * 1CH 2,400
—2aEU(SHY)
2,50020 * 8AI2} * 0.5kcal * 1202 1,200
—EHUR(ARA)
1,0002! * BAI2F » 1202 * 2CH 1,920
OASA U2 o o &l
700,0002 * 34! 2,100
BAEAL 4,328 4,359 A3
101 o124l 1,750 1,750 0
VIBEBTEES TP 1,750 1,750 0
OdtH e oRy 35,0008 * 12 * 502 1,750
206 T2 1,038 1,069 A3
SRE 1,038 1,069 A3t
OGS AR B 1,038
—Fes 1,6002 + 1002 160
—2R 1,450 * 150 ¢ 218
— SR 2,2002 * 300 ¢ 660
307 2I2H0IE 1,540 1,540 0
NIEEEEEN 1,540 1,540 0
SETCEIEE 15,0002 * 3% * 128 540
OZOIAL T Zai bl 500,008 * 27 1,000
2SS R 28, 160 26,048 2,112
201 LByl 28, 160 26,048 2,112
02 IZ2Y| 28,160 26,048 2,112
OBoSHIIRE 5,0002 * 3525 * 122 21,120
ORorS22lll 50,0002 * 3525 * 40/100 7,040
2EZAG 11,295 12,155 860
101 @121t 10,325 10,325 0
VBESTEESE=EPS 10,305 10,325 0




SN

=23H
M SHUAIY (LS THE/LUAT)
Cel: 280 22 &
= - bolEN=
N33 2 (3H) - NIEAIY - BHES A oH @E% 2
OFRE2H U HUAMNLEHIIAIY 22
35,0002 » 2% » 20 = 33| 4,200
O2EZ2FAY (2L, @ &)=
35,0008 * 5% * 20Y 3,500
OZJ|IcRgz 9 nxz sH&Y o2
35,0002 » 5% * 15 2,625
201 LEt2HH| 500 460 40
01 AtRZt2lH] 300 300 0
OZB2AXH S HHIYR 100,000 * 33| 300
02 222%H| 200 160 40
OZ22FHAUELI2
20,0002 * 23| * 5HA 200
206 K24l 470 1,370 A900
01 M24l 470 1,370 2900
O22 2 XAX =242z 220
— =0 2 X2t 20,0002 » 2& * 33 120
—g/H & HI2 5,0008 * 10%E * 23 100
O2Zs&A A&7 1Y 50,0002 * 33 150
(@FSgeci==p 5,0008 * 2& » 10& 100
FOIXX D182 5t 65,080 65,080 0
301 LEIBAS 65,080 65,080 0
05 E-2l - sEssEAz 61,840 61,840 0
Ose|etHsssA2 59,040
—Jlesg 200,000 * 18%Y x 12% 43,200
e GE= 200,000 * 18% x 23| * 1& 7,200
— 3|9 B A G
20,0002 * 18% = 23| » 122 8,640
OBtA =g 25,0002 = 569 * 23| * 1= 2,800
10 SAIAHIEAZ 3,240 3,240 0
OXNS2HEoelsS 2AdFBAT S4
5,0008 * 542 x 12& 3,240
ARSD FOIHOAY 288,860 282,800 6,060
ARD FOIHOAY 288,860 282,800 6,060
401 AlSHI LS 288,860 282,800 6,060
01 Al&H] 286,000 280,000 6,000
OAFRR Z=PIEHA AFY  286,000,0008 * 1Al 286,000
03 Al&=20HHI 2,860 2,800 60
OB ARD FOI=2AAY Al Z2HH
286,000,0002 * 1/100 2,860
HHSAPH| (2SS )(IIEHIIE 181,600 184,720 23,120
ol 2| 103,908 101,478 2,430




SN 2
Do HHSAPH (ZEE)(IEHIIE
el ol 2| (el &2
SN EB -GS - MBAY - BES 0 & 24 e HRE2
ol 2| 103,908 101,478 2,430
101 2121t 88,948 86,818 2,130
01 B4 45,100 45,100 0
Nzt 2ea
7,4572 % 6AI2E * 149 * 128 45,100
03 RIHA2ENE 4 43,848 41,718 2,130
CEENEETIEL 43,848
—Jle3 1,184,950 * 1% + 128 14,220
g4y 22,020,000 /128 * 200% 3,670
—H24Y 22,020,009 /128 * 50% * 23| 1,835
. B 22,020,002 /128 * 250% 4,588
—s4ge 90,0002 * 1% + 122 1,080
—meFLY 70,0002 * 1% * 128 840
—OFEAG(USRT) 40,0008 * 1 * 128 480
—yug A 160,008 * 1% * 122 1,920
— P 2 ) 110,008 * 19 * 122 1,320
—DEEZY 140,008 * 19§ * 122 1,680
—YEEII)
22,020,0002 /128 * 60% * 23l 2,202
— Aol 2RsY
8,5652 * 150% * 40AI2H * 1% » 122 6,167
—pYaRLY
68,5101 * 150% * 102 * 1% 1,028
—ERRIENEY 68,5109 « 13 * 222 1,508
—lEsg 50,0002 * 1% + 122 600
— Mg 30,0002 * 1% + 122 360
— 80|32 T2y 350
= (S2) 100,008 * 12 * 1Y 100
mol=(5he) 100,008 * 12 * 1% 100
20| 30,0002 * 15 + 19 30
=i 5 50,0002 * 15 « 1% 50
2, Y 50,0002 * 15 + 1% 50
oL & ) 20,0000 * 1% + 19 20
203 AREWY| 10, 160 9,860 300
01 JIZ2YAR=Y| 6,600 6,600 0
osy 6,600
—JIURYASENE 6,600,008 * 1% 6,600
02 BRI ETY] 560 560 0
OBRAIYRE=TY| 40,0002 * 14% 560
04 EN2YYRETY] 3,000 2,700 300
Ogso 3,000
—RN2YURFAY 250,000% * 122 3,000
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S s
HE: HH2IAZH (S H)(IIEHIIE)
Erel: oleiz ety TR
S ED .S (B0) - NRAY - BAS ok o S ==
0f & o8
204 HPHAH| 4,800 4,800 0
01 Mg HARHZH| 2,400 2,400 0
OHMZYRFAIH| 2,400
- 150,000 * 1% » 12& 1,800
— 20 50,000& * 19 * 12& 600
03 SHIR+!HESH| 2,400 2,400 0
ONSRgE32& 100,000& = 2¢! » 12& 2,400
|23l 77,692 83,242 A5,550
Jl2Z | 77,692 83,242 25,550
201 et H| 31,272 32,682 21,410
01 AtSR2t2ldl 24,602 24,582 20
O=ALEX 224l 13,0002 * 14884 « 123 2,184
OS2 A I 5,000& * 34 » 14% » 123 2,520
Ogbte2g 100,000 = 12& 1,200
O EA7Y HE & X7
50,000& * 12& 600
Oogalsd 12,070
—=3 30,000& * 1989 * 253 7,590
-2 & 40,000 » 1% » 112 4,480
OS24l 6,580
—S A =2l 500,000& * 1CH 500
—ZElH =l 100,000& * 4CH * 50/100 200
—SA| EY 200,000& = 53] = 1CH 1,000
-T2y €Y 200,000& * 53| = 4CH 4,000
—PC==2l 100,000& = 149 * 20/100 280
—J|Et& =2l 50,000&  12& 600
OJIEt A2 23 5,000& » 14% = 123 840
ouardE 13,924,000& * -10/100 A 1,392
02 2323H| 6,670 8,100 A 1,430
O3 AHA 1,800
—RER3 150,000& = 123 1,800
OFANEE23 £ AA 4,870
—EANHIIRS 300,000& * 12& 3,600
—MIIHNMEH =2 70,000& * 23| 140
— Aot ER3 70,000& * 12& 840
S =a=P Fak == 70,0003 * 23] 140
— & EEHAL 150,000& * 13l 150
202 (44| 45,920 45,920 0
01 =LA b 3,920 3,920 0
O=8d H2F& ZHAYI
70,0003 » 4 * 143] 3,920
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